Descubra quais das expressdes abaixo sao equivalentes, explicando o por que

de sua escolha.

+ 2x + 1

+ 2x —1

+ 4x —4

+ 4x + 4

x3+3x2+3x+1
O9%? —12x + 4
4> + 12x + 9

x(x+4) +4

Descubra quais das expressdes abaixo sdo equivalentes, explicando o por que

de sua escolha.
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+ 2x + 1

+ 2x —1

+ 4x —4

+4x + 4

x> +3x2+3x+1
Ox2 —12x + 4
4% + 12x + 9

x(x+4) +4

Descubra quais das expressdes abaixo sao equivalentes, explicando o por que

de sua escolha.
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+ 2x + 1

+ 2x — 1

+ 4x —4

+ 4x + 4

x3+3x2+3x+1

Ox* —12x + 4

4> + 12x + 9

x(x+4) +4




